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1. if f(x)= i—z + 2, determine the domain and range of f(x). {10 points)

2. Let x represent the units of labor and y the capital invested in a
manufacturing process. When 135540 units are produced, the relationship
between labor and capital can be modeled by 100x%75y®2> = 135540. Use
implicit differentiation to find the rate of change of y with respectto x when
x = 1500 and y = 10007 (10 points)

__ x@— s =10} y o .
3. Suppose f(x) = T an oy then tofind, f'(0). (10 points)
4. Use the Chain Rule to find the-derivative of the function 'y = \/’;z: (10 points)
1

5. Graph the function’ f (x) = (9 — x2)z by finding its critical numbers, showing
the intervals of increase and decrease and the relative extrerne points. (10
poifits)

6. Use the natural logarithmic differentiation to findthe derivative of
y = Vxe*i(e® + 1910 (10 points)

. : 2 X3 .

7. Evaluate the improper integral f1 ﬁdx. (10 points)

8. Change the order of integration and show that both orders yield the same area.
(10 points)

Do =y *
j f dx dy
-27J0
. . S 1 .

9. Find the indefinite integral I\/Eh/ﬁ'i dx. (10 points)

10. Find the Taylor polynomial centered at zero of degree 4 to f(x) =In(x+1).
(10 points)
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